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INSTRUCTIONS TO THE CANDIDATES

The sealed question paper booklet containing 50 questions enclosed with O.M.R. Answer Sheet is given to you.
Verify whether the given question booklet is of the same subject which you have opted for examination.

Open the question paper seal carefully and take out the enclosed O.M.R. Answer Sheet outside the question
booklet and fill up the general information in the O.M.R. Answer sheet. If you fail to fill up the details in the form
as instructed, you will be personally responsible for consequences arising during evaluating your Answer

Sheet.
During the examination:
a) Read each question carefully.

b) Determine the Most appropriate/correct answer from the four available choices given under each

question.
c) Completely darken the relevant circle

against the Question in the O.M.R. Answer Sheet. For

example, in the question paper if “C” is correct answer for Question No.8, then darken against Sl. No.8 of
O.M.R. Answer Sheet using Blue/Black Ball Point Pen as follows:

Question No. 8. @ . @ (Only example) (Use Ball Pen only)

not be done on the O.M.R. Answer Sheet.

. Rough work should be done only on the blank space provided in the Question Booklet. Rough work should

If more than one circle is darkened for a given question, such answer is treated as wrong and no mark will

be given. See the example in the O.M.R. Sheet.

The candidate and the Room Supervisor
Candidate should return the original O.M.
after the examination.

should sign in the O.M.R. Sheet at the specified place.
R. Answer Sheet and the university copy to the Room Supervisor

Candidate can carry the question booklet and the candidate copy of the O.M.R. Sheet.

10. The calculator, pager and mobile phone are not allowed inside the examination hall.
11. If a candidate is found committing malpractice, such a candidate shall not be considered for admission to

the course and action against such candidate will be taken as per rules.

Candidates have to get qualified in the respective entrance examination by securing a minimum of

8 marks in case of SC/ST/Cat-I Candidates, 9 marks in case of OBC Candidates and 10 marks in case

of other Candidates out of 50 marks.

INSTRUCTIONS TO FILL UP THE O.M.R. SHEET

There is only one most appropriate/correct answer for each question.
For each question, only one circle must be darkened with BLUE or BLACK ball point pen only. Do not try to

alter it.
Circle should be darkened completely so
Do not make any unnecessary marks on

that the alphabet inside it is not visible.
O.M.R. Sheet.

Mention the number of questions answered in the appropriate space provided in the O.M.R. sheet
otherwise O.M.R. sheet will not be subjected for evaluation.
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1)

2)

3)

4)

5)

The term biocoenosis refers to
(A) Biosphere (B) Ecotone

(C) Community (D) Ecosystem

The maximum number of individuals of a population which can be supported
by the available resources of the environment in a given area is the

(A) Ecological natality (B) Biotic potential

(C) Reproductive vigour (D) Carrying capacity

When populations of the same species are prevented from interbreeding it
results in

(A) Isolation (B) Aggregation

(C) Competition (D) Speciation

Vital index is calculated using the formula

Deaths Births

Vital index = x100 Vital index = x100
(A) Vitalndex Births (B) Deaths
: o
(C) Vital index = B%rth x100 (D) Vital index = Birth + Death
Birth 100

The actual number of births occurring under the existing conditions of
Environment is called

(A) Potential natality (B) Reproductive potential

(C) Biotic potential (D) Realized natality
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6)

7)

8)

9)

The sphere of living matter together with water, air and soil on the surface of
earth is

(A) Lithosphere (B) Biosphere
(C) Hydrosphere (D) Atmosphere

The dominant second trophic level in a lake ecosystem
(A) Benthos (B) Plankton
(C) Phytoplankton (D) Zooplankton

The autotrophic organisms with the ability to carry out photosynthesis are
(A) Herbivores (B) Carnivores
(C) Producers (D) Consumers

The ecosystem living in the alpine zone between Taiga and Polar ice is called
as

(A) Savanna (B) Tundra
(C) Autotrophic (D) Grassland

10) A habitat that is in perfect balance with the species occupying, it is called

11)

(A) Biosphere (B) Edge effect
(C) Ecotone (D) Niche

The mangrove plants are generally characterized by
(A) Microphylly (B) Absence of Aerenchyma

(C) Pneumatophores (D) Poor Water Storage
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12) Silicate minerals make about
(A) 50% of Earth’s crust (B) 70% of Earth’s crust
(C) 80% of Earth’s crust (D) 90% of Earth’s crust

13) Like other substances, minerals are made up of
(A) Cement (B) Atoms
(C) Concrete (D) Rocks

14) Estimate thickness of outer most layers of earth is 5 to
(A) 10km (B) 100 km
(C) 1000 km (D) 7km

15) What is the correct order of earth’s atmospheric layers from bottom to top?
(A) Stratosphere, Mesosphere, Troposphere, Thermosphere, Exosphere.
(B) Stratosphere, Troposphere, Mesosphere, Thermosphere, Exosphere.
(C) Troposphere, Stratosphere, Mesosphere, Thermosphere, Exosphere
(D) Troposphere, Mesosphere, Stratosphere, Thermosphere, Exosphere.

16) What is the most abundant element in the earth’s atmosphere?
(A) Argon (B) Carbon dioxide
(C) Neon (D) Nitrogen

17) The disease “Ouch Ouch” is caused by;

(A) Manganese (B) Carbon

(C) Cadmium (D) None of these
M -5406 [4]
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18)

19)

20)

21)

22)

23)

24)

Which among the following is not a Green house gas

(A) Carbon dioxide (B) Carbon monoxide

(C) Water vapour (D) Ozone

Natural source of pollution is

(A) Rain Forest (B) Mining For Minerals
(C) Forest Fire (D) Falling Of Meteoroids
Kind of land pollution in which salt content rises and land becomes unsuitable
for farming is called

(A) Carbonization of soil (B) Deoxygenating of soil
(C) Salinization of soil (D) Acidification of soil
Water in swimming pool is purinfied by adding

(A) Alum (B) Chlorine

(C) Ozone (D) UV Radiation

In MPN test Lactose broth is used during
(A) Presumptive test (B) Confirmed test
(C) Completed test (D) None of the above

A free living bacteria capable of fixing atmospheric Nitrogen is
(A) Saphylococcus (B) Streptococcus
(C) Azatobactor (D) Bacillus

Facultative bacteria are able to work in

(A) Presence of oxygen only

(B) Absence of oxygen only

(C) Presence as well as absence of oxygen

(D) Presence of water
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25)

26)

27)

28)

29)

30)

Agar-Agar is derived from
(A) Nostoc (B) Gigartinia
(C) Ulva (D) Anabena

An organism having Cytoplasm, DNA and RNA but no cell wall is
(A) Cyanobactrium (B) Mycoplasma

(C) Bacterium (D) Virus

Viable materials of endangered species can be preserved by
(A) Gene Bank (B) Gene Library

(C) Gene Pool (D) Herbarium

During the process of vermicomposting, the vermicompost is ready after
(A) 40-45 days (B) 20-25days
(C) 30-35days (D) 50-55 days

Biosensor consists of
(A) Analyte (B) Transducer
(C) BothA&B (D) OnlyB

The process of separation of particles on the basis of difference in charge and
molecular size under the influence of electric charge is

(A) Electrophoresis (B) Membrane filtration

(C) Density gradient centrifugation (D) Southern blotting
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31)

32)

33)

34)

35)

36)

Plasmid is a

(A) Bacteriophage

(B) DNA molecule incorporated in bacterial chromosome
(C) DNA molecule present in mitochondria

(D) A small circular DNA molecule capable of self replication

A fossil fuel is best described as

(A) A flammable solid or gas.

(B) A fuel that contains carbon.

(C) Fossilised rock that will burn in a power station.

(D) A flammable substance formed from ancient biological material.

The weather condition in temperate grasslands is
(A) Humid in spring (B) Cold in winter

(C) Humid in winter (D) Hot in summer

How is coke produced from coal?
(A) Gasification (B) Destructive distillation
(C) Hydro treating (D) Pyrolysis

The source of energy from the sun is
(A) Electromagnetic Radiation (B) Fission
(C) Fusion (D) Radioactive decay

Level of noise recommended in most countries 1S
(A) 30-40dB (B) 95-100dB
(C) 85-90dB (D) 75-80dB
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37)

38)

39)

40)

41)

The purpose of coagulation and flocculation in water treatment procedures, is
to

(A) Disinfect the water supply
(B) Remove microorganisms, organic matter and suspended fine particles
(C) Soften the water by removing calcium and magnesium

(D) Remove taste and odor problems

S and P Waves associated with.

(A) Tidal waves (B) Solar energy waves
(C) Wind energy (D) Earthquakes
Expand IARC

(A) International agency for research on cells
(B) International agency for radiation and chemicals
(C) International agency for research on cancer

(D) International agricultural research centre

The name of which hosted first world earth summit on conservation in (June
1992).

(A) Brazil (B) England
(C) China (D) Canada

Sodium is usually estimated by which of the following analytical technique:
(A) Flame Photometry

(B) Coulometry

(C) High pressure liquid chromotography

(D) Visible spectrophotometry
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42)

43)

44)

45)

46)

The following criteria indicates the water pollution are:

(A) pH, COD, BOD, DO (B) pH, Coliform, COD, DO
(C) Coliform, COD, BOD (D) BOD, DO, Coliform
Which three layers form the soil profile?

(A) Air, water and soil
(B) Minerals, organic matter and living organisms
(C) Clay, silt and sand

(D) Topsoil, subsoil and parent material

Why is organic matter (humus) an important part of soil?

(A) Ithelps to improve water infiltration

(B) It can break down organic pollutants

(C) It converts nitrogen in the air into nitrates used by plants

(D) Itisrich in nutrients, which is important for fertility

Which one of the following is necessary for the growth and maintenance of
animal bones and teeth:

(A) Hydrogen (B) Oxygen

(C) Phosphates (D) Sulphur

Which one of the following is the cleanest source of energy?
(A) Hydropower (B) Fossil fuel

(C) Nuclear power (D) Wind energy
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47)

48)

49)

50)

The main constituent of CNG 1is
(A) Methane (B) Butane

(C) Ethane (D) Propane

Highest carbon content is in
(A) Anthracite (B) Bituminous

(C) Sub-Bituminous (D) Lignite

Which among the following has lowest half life period?
(A) Cobalt 60 (B) Carbon 14
(C) lodine 131 (D) Oxygen 18

A photovoltaic cell converts

(A) Heatenergy into mechanical energy
(B) Chemical energy into electrical energy
(C) Solar energy into electrical energy

(D) Electrical energy into chemical energy
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Rough Work

M -5406 [11]



10.
11.

12.

WPRENER BeWEIned

8.00.80°. VBT TP BR3R 50 TBIRIR, TBROOWT JRTL JIPRT T,
TORFED, DI QTSN
3RYTOB TF, TATH), VY TOFR ©0h), IPRILOBIT  DIWODE FOWOHATE
ROLVTI), TOHEDRT.
w23 wé%oja mada‘n lgtclovilelniiiciolovite) DB @)%wg%omozs 8.00.87°. QVZT
m@oﬁaa‘n IBRIN :%rﬁzsa 8.00.80°. QOZT TOYONY TP, [P IONI), 350850.
3L nraas‘éojaoé ey ITRTODYS DWINTI, BOLELD ébafje)mcjc'i, ame Sl
ToPOD TPOBPTI AONTY  YVOLRMIT  TOFOTNRASTK [0 Jesse
wplinplelenpiestNe)
TOEEOD FDOLTY:
a)  TEIOIROTD TIOD, PNRZWOT L.O0.
b) T JJoD IR eRII e, v SONNYY ©WI0Z BOWPT/ RHTIWT

NZTIR, IGFOR.
C) %087, TYORYT BOWOHAT T 0 B[ TYTHTTRY, FOTREF N BVOWD.
NTRTBIBA, T, BEFODY T3, B0, 83 “C” FOWWT LWITNTT, e BT Lo
TOONOET T WFR L.D0.8T. YIT TOYOD T M0, 83 IN0T T3 FYNTOZ
30020:
=3, B0 8. ® @O DO NWITH TwI) (LR TOWOLT T =T LVTREN)
emédztﬁ mwgwdéoja 2TTEIROD, (BB 307) T3, BSFONY wBNIT 2D PRTY
m:%de mcézﬁeso (%.200.3T". eméd m@oﬁo@ Mdmdm)
2,000 JNFHR TBR 0T3O ézﬁ; wagaddm M ESFRNT T, YOBZT YVZTB/I),

3T, QO waﬁsémrom:izs WP 0IPRYTE WOTI, ARBLOMOROY. £0.00.83T°.
TOPORNDT SVTOTTH e R.
VPR ) BRTR fme%md%ds QOF FTRAT :;p%ﬂdeg 20.200.83T°, TOPOD e Do
TRTLER.
ShaTaleny waeiofo J03BT BRTRE ﬁsee%md%@ﬁ R 8.00.85T°. VBT T¢I
DIDTAVONT TSONT, LORTONFTLIER.
LB HFOI T3, TFIRI, T 8.00.8T°. VR HFOD TSI, T, B3 SNTDIRO
TRENLITOTR.
TSLT, BT DI FRYT FRETY, TOETY SRTROD ¥t WDTDSTRTDYHOL.
@asfbro:’m cﬁaa’%édeﬁ éracéﬁda@m %océmodd WOTH WPHFODIY, BRCFEN
w@ﬁsé Uom@@@ T QOHINY TFoT WOTH WPHECD LT 5;33 %me:emm@m
83 TEe3 WOegoRY SBEoIRED 2t 50 eﬁo%mﬂ@ SC/ST/Cat- I@&S@Fﬁ% TR 8
WOBNIR), OBC @z%@m%ﬁo EE 5 ©WOBNTY, mag ARET @&3@;71@:0 smw 10
VOBNTI, TEODITI.

2.990.850°. PO, oW AW
BEO3ROW TI N 2.0T3¢ 2O VI 0T BT /FOCINT YVITITT.
BE TFR 0D F[ITFI, [T D WP FTXD ST TN BIROT [
BOWIFI),. YOITVIZ), WRTE BRI TODITeIeR.
BFBRYNTVE ©BTR) FoDIV[OT 3 FII), FOTREIFON BDOLOIT.
8.00.80°. TFONY CIPFTE BIVFTF MNWNATI, SBLCR.
WOZORT TINY 2ot BOLZeDI, O.M.R. T INOTRIWLS NBY STehISTRD,
93 O.M.R. g0, BPOBRTIY BONRLSINY.

Note : English version of the instructions is printed on the front cover of this booklet.




